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WA F 7k 500,000 X 23] = 1,000,000
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2. A4 Y fA 122,993 125,161 -2,168
1.8+ WA 8] 5] 122,993| 125,161 -2,168
1. FZ_FLAATHF 69,409 70,609 -1,200
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48,000, 000=
A)=] /“E A oJ = (3] _
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3.7 T T 11,809| 13,009  -1,200 ’ ~1.,200,000
s )-6,000,000¢)=
2. A1 38 13,320 12,660 660
1. ddk5=8-1) 13,320 12,660 660|747 AR89 110,000 X 6Y= 660,000
3. A A ukg] 28,560 26,600 1,960
247 X718 A7) AARE ]
1. gwut<egH] 28,560 26,600 1,960 ;1;1%: d714du] B71AAR 760,000 760,000
WEAA A7 HAAN] 400,0009 X 35= 1,200,000
4.9 32 3,264 3,264 0
1. gddk4=8-n] 3,264 3,264 0
5.3-44 % 5,040 8,628 -3,588
s 4898 (602,000 X649
1.98k=8n 5,040 8,628 -3,588 ’ -3,588,000
bl )~7,200,0009]=
6. 553 3,400 3,400 0
1. 71241 2 4 171 8] 1,000 1,000 0
2.4 Wk4=g1) 2,400 2,400 0
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20188HA S A& of AHE A A]
2 A4)
7 A 2] ol
S ]o B]JJ— AE7]% (YD)
- oq]}\ o A} on =7
AA | ]| A A Ll = o
3.5t ¥ 5,925 3,925
1.8tm$ 1,450 1,450
1.8k 1,450 1,450
350 350
1,100 1,100
2 R mEe 4,475 2,475
1. 1,875 1,875
1,875 1,875
2. 600 600
600 600
3. o] X ALY 2,000 0
-t g wS AR 2]
200 0 ( )RS ZFAR] 200,000 < 1 200,000
X 13]=
Adsgee ARRE A4 0dl 50,000
-30,000¢= '
YAt EAtE AGEE Ak 20,000
30,0009 X 178 X 17| F= ’
velalisl= AT A et
2eeq o 0 Adeiglete AQRE AmTY 50,000
(10,0009 < 43 )-400,000¢ =
(BE) A A= s e 400000
1 10,000<40%= ’
(BHADAAAZAE] ddz 2,0009
’ 60,000
X 30%= ’
(BHAD)AAAZ A7) b4 4,0009
120,000
X 30™=
(AR B A Eel g Aol st 2k 90 000
3,0009 X307 = '
(A HA) A FeAdn 20,0009 <1678 = 320,000
(BHAD=EUYFEA Adds =579
M © " 200,000
20,0009 X 10F < 13]=
AU S EUEH =
) 580 0 (BE)ShLAF 2R AT 2,000 200,000
A X20™ X53]=
(dRAR) S E PR E R b 60000
79 2,0009) X 67 X 55]= ’
(J )RS hohrs) 50,0009 50000
X 13]= ’
(A9 BAE Folel ThatbTg 3,000 970,000
2 x30™ X 33]= ’
JBhal A F-g 5,000 5,000
1. H)H] 5,000 5,000
1. o H] 1\ 5,000 5,000
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